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��H��	����	��������������[���������� (�����1��	2������:��;�1��������) 
- ��H��	����	�����=���                    : <	��;� 0.75% 
��  
- ��H��	����	D2=2
�D����C�?�         : <	��;� 0.06% 
��  
- ��H��	����	�������������������  : <	��;� 0.10% 
��  
- ��H��	����	A������=
���������        : <	��;� 0.30% 1��	2������:��;� 

 ! ����=������������� 
- ��A?�������w                                : 
�	��������;� 

��H��	����	����������[����D2��������D2J����������� (�����1��	2������������) 
- ��H��	����	���1�����������        : <		� 
- ��H��	����	����������������������  : <		� 
- ��H��	����	���C�����������        :  50 ���/ 1 ������ 

�2�=72����&��2#8'�:���(�	��  
 
1) ��%=72�������&���:�8���&�3��      
2) �= � 3�� Pay in ��� 
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3) �����2��8� MM-GOV ?(� 
MMM �]8��#8'����	�������(2 
13.00 �. G�������	2�����2�
�����2� 3��$�������2����
572�����&��	2��'� 


